PHYS 102: General Physics2 KOC UNIVERSITY Fall Semester 2015

College of Arts and Sciences

Section Quiz 9 November 27, 2015

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes
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A V-shaped bar with each arm of length L and tip angle 6 in -
the X-y plane is moving with velocity v = v,% along the x- Ty 9 = a+ f‘%
axis in a uniform magnetic field B = —B2Z. Find the induced A >
emf between the ends of the V-shape. (Hint: 6= —Jv _ X A —
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. hp=d+p
A V-shaped bar with each arm of length L and tip angle

6 in the x-y plane is moving with velocity v = pyX
along the x-axis in a uniform magnetic field B = B3. s
Find the induced emf between the ends of the V-shape. ol ?
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A V-shaped bar with each arm of length L and tip angle @ in
the x-y plane is moving with velocity v = v3Z in a uniform
magnetic field B = —B7¥. Find the induced emf between the
ends of the V-shape. (Hint: € = [(¥ x B) - d)
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